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Question No. 1
et AR Az & 'GUEST' &t 53@8&2 3T 'MEAN' # 6@4# & &7 3 fa@r sirar 1 3 s 7 'SAME' &t

O oEr seam?
A)4&6@ B)&46@
C)&36@ D)5&6@

In a certain code 'GUEST" is written as 53@&2 and 'MEAN' is written as 6@4#. How is 'SAME' written in that

code?

A)486@ B)&46@

C)&36@ D)5&6@

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3210017853&qwer=1)

Question No. 2
R dfaere & Adar Ry AT sar 82
A)B.R. 3Fegax B)STaTelellel sig&®
C)HgTcAT el D)B.N. I1@

Who is considered as the architect of the Indian Constitution?

A)B.R. Ambedkar B)Jawaharlal Nehru
C)Mahatma Gandhi D)B.N. Rao
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 2) (objection.aspx?qwr=3210017853&qwer=2)

Question No. 3

QIfFEdlel & TIA Tseufa i &2
A)STH O AIS [Ahed gl B)3TR® 3tedr
C)wdsl HIRH D)&de Ja® Tofm fStefrir

Who is the present President of Pakistan?
A)None of the options B)Arif Alvi
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C)Pervez Musharraf D)Syed Youssuf Raza Gillani
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 3) (objection.aspx?qwr=3210017853&qwer=3)

Question No. 4

diwasT & AT gE & gt & 3RS Fe I §

A)ara B)&g

C)arR D)dier

The elections for Lok Sabha are held every years.

A)Five B)Six

C)Four D)Three

Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3210017853&qwer=4)

Question No. 5
e e & s fr taT 37 15 ¥ 71 9 12 9§ 6 #AG Fr Haa 37 F 5 A¢ oF @ g §, A FET
#$r 3itaa 37 6 7S FA & AS| FET F Fas o &2
A)18 B)24
C)22 D)20

The average age of the students in a class was 15 years. When 5 new students, whose average age was 12
years 6 months were admitted, the average age of the class got reduced by 6 months. Find the number of
students in the class originally.

A)18 B)24
C)22 D)20
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3210017853&qwer=5)

Question No. 6
i gy TE3tt &1 AT 3R AT Fweer: 20 AR 8 §, o 39 Feit & IR AT AT
A)160 B)28
C)12 D)180

If the sum and the difference of two numbers are 20 and 8 respectively, then find the difference of their

squares.

A)160 B)28

C)12 D)180

Answer Key: A  Your Response : Not Answered Raise Objection(Question No. 6) (objection.aspx?qwr=3210017853&qwer=6)

Question No. 7
frfaf@a st @ wEuEgEs g 3 R Re e we & 3ar &) & oo A, o9 Rem §1 3o sk
arer 3fagre AR 3T gerd € 9% AR arer et AR AT gera €1 Rewr 3R rer it ik sfaew
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Terd g1 A 3R aren sifadr 3R we o g €1 Rt f faf@a 7 @ sl S e ik
sfaer gt gerdh &2

AT § F1S fashod et B) 30T 3 &%

C)aew IR &% D)fa=rr 31k 3r%or

Read the following information carefully and answer the question given below. In a school, there are five
teachers. Arun and Bala are teaching History and English, Viru and Bala are teaching English and Geology.
Vinay and Arun are teaching Maths and History. Mani and Bala are teaching Physics and Chemistry. Which of
the following teachers is teaching both Geology and History?

A)None of the options B)Arun and Viru
C)Vinay and Viru D)Vinay and Arun
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 7) (objection.aspx?qwr=3210017853&qwer=7)

Question No. 8
TS AT H AThA 460 Hi2 §| I darg, dizs & 15% 310 §, IaeR dAge 6 disE BFast §7?
A)34.5 #Hr B)20 #r
C)15 #r D)26 #Y

The area of a rectangular field is 460 m2. If the length is 15% more than the breadth, what is the breadth of a
rectangular field?

A)34.5 m B)20 m
C)15m D)26 m
Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 8) (objection.aspx?qwr=3210017853&qwer=8)

Question No. 9
@ & o HEAT F 9 TG 0, 1, 3, 6, 10, 15, 21, 28, 37, 45
A)37 B)10
C)45 D)0

Find the wrong number in the given series. 0, 1, 3, 6, 10, 15, 21, 28, 37, 45

A)37 B)10
C)45 D)0
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3210017853&qwer=9)

Question No. 10
GDP & fa&R = 87
A)Tcllgd SIAReH disde B)aird sk wisae
C)Talldel 3aUT Wolde D)ara fBuforedr disae
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What is the full form of GDP?
A)Global Domestic Product
C)Global Development Project

Answer Key:B  Your Response : B (Correct)

A)asfra
C)Ra=reT

Dada Saheb Phalke Award is associated with-

A)Music
C)Films
Answer Key:C  Your Response : A (Wrong)

F Faw Reaw i =gr Srar 2

INGIE!
C)fSis

is also called as quick silver.

A)Copper
C)Zinc
Answer Key:B  Your Response : C (Wrong)

dig 9 & dEugE Fa 92
A)SEAT
C)IN# ger

Who was the founder of Buddhism?
A)Bramha

C)Gautama Buddha

Answer Key:C  Your Response : D (Wrong)

B)Gross Domestic Product
D)Gross Depository Product
Raise Objection(Question No. 10) (objection.aspx?qwr=3210017853&qwer=10)

uestion No. 11

B)emnfed
D)&rfecT

B)Peace
D)Literature
Raise Objection(Question No. 11) (objection.aspx?qwr=3210017853&qwer=11)

uestion No. 12

B)9RT
D)TegfAfaas

LN

B)Mercury
D)Aluminium
Raise Objection(Question No. 12) (objection.aspx?qwr=3210017853&qwer=12)

Question No. 13

B)#HgrdR
D)gelrs aITAT

B)Mahavira
D)Dalai Lama
Raise Objection(Question No. 13) (objection.aspx?qwr=3210017853&qwer=13)

Question No. 14

fore o # R & e 991 Jehy 3 fRua §?

A)3cRTEs
C)St#H Td N

B)3ra#H
D)fafFsa
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In which state is Asia’s largest tulip garden located?

A)Uttarakhand B)Assam
C)Jammu and Kashmir D)Sikkim
Answer Key:C  Your Response : C (Correct) Raise Objection(Question No. 14) (objection.aspx?qwr=3210017853&qwer=14)

Question No. 15
39 W A, TF FUA F a1 o fasm§ e aw §) afFs w7 @ a9 3Ra faswd gfav) sy e 6 af sk
300 AOF 37 F T A QT & §1 w1 T F @ o § 30w g F =t # i@ 7@ R
STl . 36 3G 7 9o A & 3T &R W A § 3R dwa & w d9w g g
Afasey | 3R 1l gt gt a1 B)&hadl fshY | uTeled aT &l
C)had faswy |l IrefeT T gl D)t o fashy | 3iR & & |l greled &ar gl

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically. Statement: The schools admit the child at the age of 6 and above. Conclusions: I. The schools do
not admit children after seven years of age. Il. At that age, the child reaches appropriate level of development
and is ready to learn.

A)Both conclusions | and Il follow B)Only conclusion | follows
C)Only conclusion Il follows D)Neither conclusion | nor Il follows
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 15) (objection.aspx?qwr=3210017853&qwer=15)

Question No. 16
Ife frelt Tear 3R 39% T Fr AT 182 §, O HEAT F FFRICHAF A AT Hfow|
A)28 B)15
C)13 D)26

If the sum of a number and its square is 182, find the positive value of the number.

A)28 B)15
C)13 D)26
Answer Key:C  Your Response : C (Correct) Raise Objection(Question No. 16) (objection.aspx?qwr=3210017853&qwer=16)

Question No. 17
HEICAT e SaRT "R BIST Mereer Fd Y& FFar = ar?
A)1942 B) 1945
C)1943 D)1944

When was the 'Quit India Movement' started by Gandhi?

A)1942 B)1945
C)1943 D)1944
Answer Key:A  Your Response : C (Wrong) Raise Objection(Question No. 17) (objection.aspx?qwr=3210017853&qwer=17)
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Question No. 18

3T FY oA |

A)QSW B)PRU

C)JLP D)HJN

Find the ODD one out.

A)QSW B)PRU

C)JLP D)HJIN

Answer Key:B  Your Response : B (Correct) Raise Objection(Question No. 18) (objection.aspx?qwr=3210017853&qwer=18)

Question No. 19
T SAMIRY 39l VAT & o {oF @ 30% 3f0e W 3ifd axar § 3R 37 | 20% & g &ar &l 3qar
oSt gfoRieT A g Fifsiel
A)2% B)5%
C)4% D)6%

A trader marks his goods at 30% above the cost price and allows a discount of 20%. What is his gain per

cent?

A)2% B)5%

C)4% D)6%

Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 19) (objection.aspx?qwr=3210017853&qwer=19)

Question No. 20
AR Rerd 8% (RBI) & aiffsr 3dsl & 3eER, feafaf@a i & & wleaar aur FY18 & sma & feeh
et fAder (FDI) T @9y 937 A1d §2?

A) AT B) X

C)alelals D)W

According to Reserve Bank of India (RBI) annual data, which of the following countries accounted for the
largest source of Foreign Direct Investment (FDI) into India in FY18?

A)Mauritius B)Singapore
C)Netherland D)France
Answer Key: A Your Response : D (Wrong) Raise Objection(Question No. 20) (objection.aspx?qwr=3210017853&qwer=20)

Question No. 21
A)26 ST 1950 B)15 31aTed 1947
C)30 SieTadr 1948 D)26 Agsk 1929
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India became a Sovereign Democratic Republic on-

A)26 January 1950 B)15 August 1947
C)30 January 1948 D)26 November 1929
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3210017853&qwer=21)

Question No. 22
g (4 x 4)3 + (512 + 8)* x (32 x 8)* = (4)2 §, ° 'a' & A AT I
A)10 B)4
C)6 D)3

If (4 x 4)3 + (512 + 8)* x (32 x 8)* = (4)?, find the value of 'a".

A)10 B)4
C)6 D)3
Answer Key: A  Your Response : Not Answered Raise Objection(Question No. 22) (objection.aspx?qwr=3210017853&qwer=22)

Question No. 23

T AlTSel BieT $ 3fhd FeT $.12400 § iR gheGR 30 W 30% T Ge & &1 Aga Bl H AOhaT qed
Al HIfST

A)%.8680 B)%.8860

C)%.10400 D)%.9020

The marked price of a mobile phone is Rs.12400, and the shopkeeper allows a discount of 30% on it. Find the
selling price of the mobile phone.

A)Rs.8680 B)Rs.8860
C)Rs.10400 D)Rs.9020
Answer Key: A  Your Response : A (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3210017853&qwer=23)

Question No. 24
e A:B=4:53RB:C=3:8% aA:C Ad &I
A)8 : 5 B)5 : 8
C)3 : 10 D)4 : 5

fA:B=4:5andB:C=3:8,findA:C.

A)8: 5 B)5: 8
C)3:10 D)4 : 5
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 24) (objection.aspx?qwr=3210017853&qwer=24)

Question No. 25
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Rt # & 39 FFA F g A A9 /U A0 Yo F Y W=
T F T FT 2

U

N
TN
RPN N
C. P D. A

Choose from the alternatives the figure that best completes the
pattern given below.

U

N
. Q)

A Aq B. \ y,

C. D. A
Z

Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3210017853&qwer=25)

Question No. 26
T F ¥ =1 14 ARG F AT &7
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A)46.6 forai/eaer B)50.4 frai/erer

C)70 ferafi/aer D)28 ferefi/eer

Which of the following is the same as 14 m/s?

A)46.6 km/hr B)50.4 km/hr

C)70 km/hr D)28 km/hr

Answer Key:B  Your Response : Not Answered Raise Objection(Question No. 26) (objection.aspx?qwr=3210017853&qwer=26)

Question No. 27
faFT weaT &, yeoa fawedt % & wefta dear gfav) 8 1 24 = 7 : 32
A)5 B)1
C)10 D)6

Which of the following number will best complete the relationship given below? 8 : 24 :: ? : 32

A)5 B)1
C)10 D)6
Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 27) (objection.aspx?qwr=3210017853&qwer=27)

Question No. 28
RN HiaereT 9o it ggell doh fr sregerar & Hr o

A)STATEeT AE® B)afeaarse fawer
C)Sig 9dTG D)B.R. 3fFaga

presided over the first meeting of the Indian Constituent Assembly.

A)Jawaharlal Nehru B)Sachchidananda Sinha
C)Rajendra Prasad D)B.R. Ambedkar
Answer Key:B  Your Response : B (Correct) Raise Objection(Question No. 28) (objection.aspx?qwr=3210017853&qwer=28)

Question No. 29
RIS Wt 7 FauT UgH Siiael arell ggell ARG Afgem FieT A2
NKIEG K CIGE] B)eirdr Ir=ir
C)P.T. 3w D)&Helsid e

Who was the first Indian woman to win a gold medal in Asian Games?

A)Shiny Abraham B)Sunita Rani
C)P.T. Usha D)Kamaljeet Sandhu
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 29) (objection.aspx?qwr=3210017853&qwer=29)

Question No. 30
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48 TR / €T T 9T FART I W, TF HEH FAT W IS FRAH TG §| 3R g 30 AAE AT
¥ 5/6 § S &, o 95 9= Frdierd 8 fAere &0 & TGl W § 36H Frderd H gl 4w 87

A)32 et B)56 forsT

C)16 faref D)40 et

At his usual speed of 48 km/hr, a man reaches his office in time. If he goes by 5/6 of his usual speed, he will
reach his office 8 minutes late. What is the distance to his office from home?

A)32 km B)56 km
C)16 km D)40 km
Answer Key: A  Your Response : A (Correct) Raise Objection(Question No. 30) (objection.aspx?qwr=3210017853&qwer=30)

Question No. 31
A e &1 97 KIS0 ST ST (X) F A2 g0 =9 & 9ga Afg® #7911 2)

[ ]
L *
*
A * al* al®
(X) (P) Q) (R) ()
A (P Fa B. |(Q3R®) F=a
C. |(R) IR () Faa D. |(S)FTer
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Choose the alternative which closely resembles the folded form of

figure (X).
L
L] *
* L ]
A * a a
X) (P) Q) (R) (S)
A, |(P)Only B. [(Q) and(R) only
C. [(R)and(S) only D. |[(S)only
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3210017853&qwer=31)

Question No. 32
TS AT F F5H A AT Y 16 I ¥ AR wsfRAt A 15 a¥ g1 A A a3y AT wX
A)3eT 3r9aTed B)16 a¥
C)15 ay D)15.5 ay

The average age of boys in a class is 16 years and that of girls is 15 years. Find the average age of the whole

class.

A)Data inadequate B)16 years

C)15 years D)15.5 years

Answer Key: A  Your Response : D (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3210017853&qwer=32)

Question No. 33
T T3 FT AT 3 1 4 : 5 § AR 37F T F AT 1250 ¥ Mer Wt F qr AT H
A)50 B)60
C)30 D)90

The ratio of three numbers is 3 : 4 : 5 and the sum of their squares is 1250. Find the sum of the three

numbers.
A)50 B)60
C)30 D)90
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Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 33) (objection.aspx?qwr=3210017853&qwer=33)

Question No. 34

TF BT Fr FTd TF §X AT FF fev v By W A =t &7
THET ST

0020

(1) )

@A.

A |1L23 459678 B. 67 2384579

C. |23 45+6 7,89 D. 5o ¥ #1E =gt

Group the given figures into three classes using each figure only

once.
(1) (2
A 123459678 B. 167 238459
C. 1,2, 3; 4,5,6; 7,8,9 D). |Noneofthese
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 34) (objection.aspx?qwr=3210017853&qwer=34)
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Question No. 35
T TR FT & af & fAC 5% whqlg s¥eT W e i g oy 3R 3@ & 3T A, T TR 5.1323 A
foraer fr a5 TR fher 42
A)¥.1150 B)¥.1125
C)%.1980 D)%.1200

A sum was invested at 5% Compound Interest for two years; and at the end of the period, it amounted to
Rs.1323. What was the sum invested?

A)Rs.1150 B)Rs.1125
C)Rs.1980 D)Rs.1200
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 35) (objection.aspx?qwr=3210017853&qwer=35)

Question No. 36
Ifg 832.58 - 242.31 = 779.84 - a &, & 'a’ F A AT HLI

A)199.57 B)189.57
C)295.05 D)179.57

If 832.58 - 242.31 = 779.84 - a, find the value of 'a'.

A)199.57 B)189.57
C)295.05 D)179.57
Answer Key:B  Your Response : Not Answered Raise Objection(Question No. 36) (objection.aspx?qwr=3210017853&qwer=36)

Question No. 37
T & ¥ F1 Y RU 3T FIY F Fe@ g dAF d QU F@m? OQT : UWZ :: EGJ : ?
A)LNQ B)KMP
C)KPM D)KLN

Which of the following will best complete the relationship given below? OQT : UWZ :: EGJ : ?

A)LNQ B)KMP
C)KPM D)KLN
Answer Key:B  Your Response : B (Correct) Raise Objection(Question No. 37) (objection.aspx?qwr=3210017853&qwer=37)

Question No. 38
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Rt # & 39 FFA F g A A9 /U A0 Yo F Y W=

T F T FT 2
A B
C D.

Choose from the alternatives the figure that best completes the
pattern given below.

A B
C D.
Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 38) (objection.aspx?qwr=3210017853&qwer=38)

Question No. 39
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TF BT FT ST TF T THAW & Gv T "Ry w9 = 7
THET Frfew

&SP
=

A 23,458 B. 13 24556

C. L5 23456 D. = ¥ F15 = 6f

Group the given figures into three classes using each figure only

once.
A 23,456 B. L3 24556
C. [us 2346 D. [Noneofthese
Answer Key:C  Your Response : C (Correct) Raise Objection(Question No. 39) (objection.aspx?qwr=3210017853&qwer=39)

Question No. 40
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el Joorol Y o lelr B
A) &l B)37ier w&er

C)dffrer=g D)aeicen

'Ottan Thullal' is a dance form of-

A)Kerala B)Andhra Pradesh
C)Tamil Nadu D)Karnataka
Answer Key: A Your Response : D (Wrong) Raise Objection(Question No. 40) (objection.aspx?qwr=3210017853&qwer=40)

Question No. 41

AT Qe # T Fa% 9 NEROCA Fad & Te Y 8§72
A)Fesiter B)glhT

C)fshehec P)EIGIEIEE

With which of the following sports is NEROCA club associated?

A)Foot ball B)Hockey
C)Cricket D)Volleyball
Answer Key: A  Your Response : D (Wrong) Raise Objection(Question No. 41) (objection.aspx?qwr=3210017853&qwer=41)

Question No. 42
PQ#FMERIR QA R §I S, RA A I T, S & Rar #1 Q, R A T 1 P, S & ¥ wafdT 82
A)gT B) aRatci
C)ser D)grar

P is the brother of Q. R is the father of Q. S is the mother of R. T is the father of S. Q is the daughter of R.
How is P related to S ?

A)Son B)Granddaughter
C)Daughter D)Grandson
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 42) (objection.aspx?qwr=3210017853&qwer=42)

Question No. 43

Haler 7§ H ____ <g# §l

A)72 B)2
C)54 D)3
Mars has _____moons.

A)72 B)2
C)54 D)3
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Answer Key:B  Your Response : B (Correct) Raise Objection(Question No. 43) (objection.aspx?qwr=3210017853&qwer=43)

Question No. 44

3T FY oA |
A)356 B)639
C)527 D)246

Find the odd one out.

A)356 B)639
C)527 D)246
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 44) (objection.aspx?qwr=3210017853&qwer=44)

Question No. 45
3 9% H, OR FYA F 9¢ 9K Aswy Ru aw ) afed w0 & w99 3w @y gl suen 1) 57
TR, A §1 2) e o J9, IR 7 ¢ 3) el i, AyATRE ¥l 4) Fo 909, AR gl A L
O AR, AYAFEA ¢ |l F& AYAfFEE), s § . F& ayAfrer, adq, §1 V. 35 39, J@w P
A)dad sy || grefeT Far B B)&ael fAshY | OTeleT Xar
C)dhaer fasay | 3R Il greld aa gl D)dhad sy |l 3R IV d1ee X £

In this question, four statements are given followed by four conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) Some animals are apples. 2) No apple is goat. 3) All goats are bees. 4) Some
pots are animals. Conclusions: |. Some animals are bees. Il. Some bees are goats. Ill. Some bees are pots.
IV. Some apples are animals.

A)Only conclusion Il follows B)Only conclusion | follows
C)Only conclusions | and Ill follow D)Only conclusions Il and IV follow
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3210017853&qwer=45)

uestion No. 46

wfaser #r a1fa &
A)eTer B)gad & 15 Qe g
C)areered D)@

Amnesia is loss of-

A)Appetite B)None of the options
C)Memory D)Blood
Answer Key:C  Your Response : C (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3210017853&qwer=46)

Question No. 47
farafaf@a el @ FEueigEs 9 AR M Re v wa & 3o &) 9 a’- P 'QL R, ST AR T
I SR, Rshar, Rem, B & waa Ak 37 F v ok & afva owd a8 &5 3 33 w7 F & () P
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3R R Ruem I ot F @A gRdg a8 & i) 'Q 3R T REwer a1 B F adqGt F Qv uRdg aE& & i)
57 3R RaFar & P A S dar-em 74 &1 (iv) 'S' 3R T TR 3R RFwer F v 9fdg a8 & (v) 'S
R & v ufdg 781 §1 Aafaf@a § ¥ Filaar at FhEh & Qv oR[Rg 87

A)S B)R

C)P D)Q

Read the following information carefully and answer the question given below. Five cities—'P', 'Q’, 'R’, 'S' and
'T' are famous for their garden, painting, education, pottery and scents, but not necessarily in the same order.
(i) 'P' and 'R' are not famous for education or garden. (ii) 'Q' and 'T' are not famous for painting or pottery. (iii)
Scents and painting have nothing to do with 'P". (iv) 'S' and 'T' are not famous for garden and painting. (v) 'S'
is not famous for education. Which of the following cities is famous for gardens?

A)S B)R
C)P D)Q
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 47) (objection.aspx?qwr=3210017853&qwer=47)

Question No. 48
IR x+y+z=93 xy+yz+2zx =20 & a x® + y? + 22 A HII
A)80 B)24
C)15 D)41

Ifx+y+z=9andxy+yz+zx =20, find X2 + y? + 22

A)80 B)24
C)15 D)41
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 48) (objection.aspx?qwr=3210017853&qwer=48)

Question No. 49
fe Rl ST 1 o Gt 72 &, O 39 c-fAeE fRder gen?
A)64 B)96
C)192 D)54

If one-fourth of a number is 72, then what will be its two-thirds?

A)64 B)96
C)192 D)54
Answer Key:C  Your Response : Not Answered Raise Objection(Question No. 49) (objection.aspx?qwr=3210017853&qwer=49)

Question No. 50
Aigevg 3 OlewTie # Flrel 3Ufd & IRy 6?
A)TIfhEdlel & TYTHAT B) shIIG-U-31ToTH
Cygerit & FE R Dyl & e
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Mohammed Ali Jinnah was conferred with the title-

A)Prime Minister of Pakistan B)Quaid-i-Azam
C)None of the options D)Father of Pakistan
Answer Key:B  Your Response : C (Wrong) Raise Objection(Question No. 50) (objection.aspx?qwr=3210017853&qwer=50)

Question No. 51
FEA*BRATEFA BN GEAL A+ BRATEFA B ASEINA-Baw T g ™F A B
AT A A RTRMATE F T, S Hr 787 2
AT-S+M B)T + M+ S
C)sad# ¥ Fis fAheq AT D)T+M S

If A* B means A is the sister of B, A + B means A is the brother of B and A - B means A is the mother of B,
then which of the following represents 'T is the sister of S'?

AT-S+M B)T*M+S
C)None of the options DT+M*S
Answer Key:B  Your Response : B (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3210017853&qwer=51)

Question No. 52
e & & =7 A U 710 J6Y F Fo@ TR T8 & [ FWM? PRAYER : RNGVUK 1 AGENCY : ?
A)CKCKHR B)CCKKHR
C)CCKKRH D)KKCCHR

Which of the following will best complete the relationship given below? PRAYER : RNGVJK :: AGENCY : ?

A)CKCKHR B)CCKKHR
C)CCKKRH D)KKCCHR
Answer Key:B  Your Response : B (Correct) Raise Objection(Question No. 52) (objection.aspx?qwr=3210017853&qwer=52)

Question No. 53
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414 303 195 101 215 203 1461 1041
405 296 231 202 273 212 1573 1153
398 216 246 209 284 232 1636 1187
376 231 315 234 230 205 1428 1013
439 358 386 212 240 215 1895 1212

247 239 339 204 296 232 1753 1230

2016 & faug ¥ 94 fw sranfifat &1 39 ad 9t gt & o Iefteant &1

A 13.65% B. |1485%

C. 15.25% D |16.75%

Study the following table and answer the question given below it.
The following table represents the mumber of candidates appeared and qualified
belonging to different disciplines in an examination over the years.

Science Commerce Agriculture Engineering

Appeared (App.), Qualified{Qual.)

The candidates appeared under Arts discipline in 2016 was what percentage
of total candidates appeared under all the disciplines together in that year?

A 13.65% B. 14 85%
C. 15.25% D. 16.75%
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3210017853&qwer=53)

Question No. 54
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I v MR fr FAEE TUH a§ 7 40% Toch § AR gEY a¥ 30% we Sl §, o aRade @ g wfeera
EIGEI L]

A)5% s 1 B)5% ®edr gl

C)2% wedr Bl D)2% =edr gl

If the population of a town increases by 40% in the first year and decreases by 30% in the second year, find
the net percentage change.

A)lncreases 5% B)Decreases 5%
C)Increases 2% D)Decreases 2%
Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 54) (objection.aspx?qwr=3210017853&qwer=54)

Question No. 55
s U 5% af¥er sarer #r a7 § 3 9§ F $.4630.50 & e g, S@fr surar fr qvEen Af¥F wwgied
IR W $r S g1 a8 IR Faqm|
A)%.6000 B)¥.5000
C)¥.4000 D)¥.7000

A sum becomes Rs.4630.50 in 3 years at the rate of 5% of Compound Interest compounded annually. Find
the sum.

A)Rs.6000 B)Rs.5000
C)Rs.4000 D)Rs.7000
Answer Key:C  Your Response : C (Correct) Raise Objection(Question No. 55) (objection.aspx?qwr=3210017853&qwer=55)

Question No. 56

T Y IS 4 82
A)FEIeT B) 3HETSTG
C)emely I D)3Mefiele R

What is the capital of Gujarat?

A)Vadodara B)Ahmedabad
C)Gandhigram D)Gandhinagar
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 56) (objection.aspx?qwr=3210017853&qwer=56)

Question No. 57
360 ¥ 15% 3R 80 & 20% Fr AT AT FXI
A)60 B)55
C)70 D)45

Find the sum of 15% of 360 and 20% of 80.
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A)60 B)55
C)70 D)45
Answer Key:C  Your Response : C (Correct) Raise Objection(Question No. 57) (objection.aspx?qwr=3210017853&qwer=57)

Question No. 58
famafaf@a & & 5w Qa0 & a1y ST WIF Ase 3T 87
A) TR B) FFhaTotT
C)peelr D)=l &g

With which of the following sport is the word 'Butterfly Stroke' associated?

A)Swimming B)Boxing
C)Wrestling D)Boat race
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 58) (objection.aspx?qwr=3210017853&qwer=58)

Question No. 59
fArfaf@d &9 & @A gaer F FEueiqEs 9§ 3R A (e 7w 9w F 3o’ ) 3Figar a8 () FA
¥ FH 55% 3l F WY FAdw @ (i) 1 waEd, 2017 # ~geraw 3g 30 af § w7 IR Hfwaw 3mg 35
ad e 7 el TlRw (i) gRaw Buifoe & & & 40000 FIC F $FAWT e F AT AR g (iv) FA
¥ FH 3 af & FA T H IHeE gl (v) BT wQer & F7 @ F9 50% 3w & 99 BFAr g (vi)
AP TENHR F FH A HA 40% 31 ¥ g7 fFar @1 IR 3elear (i) ¥ (vi) a T 3 A &t
QO AV @ @ 3 o e R W A F Sl 3HfER el ATYEE O Hadr g e () ¥,
AR 3T IMETAIRIH & AT I F T JatT § W-FAds f Bt §F F7 & 7 55% 35 o
ared BT g, Y 39F A F GM-9UAT F I ST el R 0 AT & Sl 3car e Arves #r
R FAI/A 8 Rare (iii) F, AffheT 98 1 aF F alvs W TR W & T &R &), aF 37F A F:T SVP-
TS & I A geml Al 3Rfear & fRaolt F1% gEer F ¥, o 3% e 3T F w9 7 AT iRl
w7 HT S 17.07.1985 H g3 &I 3/ BA F 64% 3 R =AFHa WeNHR # 54% 3iF 9o gC T
gg40000 TIT & &M Bulfcle & A & fOv TR 1 36 faf@d odem & 57% 3 9rcd e §1 3696
U 4 9§ FA F F IS B

A)IFHIEAR H GM-TeT I FSTAT g1 B)3#Hicar & fAgerd fham S =nfew

C)3FHIgaR & T 6T [T ST Tl & D)3FHIGaR & SVP-qdsTel 1 ST grem

Study the following information carefully and answer the question given below. The candidate must: (i) Be a
graduate in any discipline with at least 55% marks. (ii) Be at least 30 years and not more than 35 years as on
1 February 2017. (iii) Be ready to pay Rs.40000 as security deposit. (iv) Have work experience of at least 3
years. (v) Have cleared the written examination with at least 50% marks. (vi) Have cleared the personal
interview with at least 40% marks. In case a candidate satisfies all the other criteria from (i) to (vi), he/she
shall be selected. In case a candidate satisfies all the other criteria EXCEPT (i), but has secured at least 55%
marks in post graduate in Management with specialization in Economic/Statistics, the case is to be referred
as GM-Personnel. In case a candidate satisfies all the other criteria EXCEPT (iii), but is ready to sign a bond
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of 1 year, the case is to be referred as SVP-Personnel. If there is any loss of information in the candidate de
A)The candidate has to be referred as GM-Personnel B)The candidate has to be selected
C)The candidate cannot be selected D)The candidate has to be referred as SVP-Personnel

Answer Key:B  Your Response : Not Answered Raise Objection(Question No. 59) (objection.aspx?qwr=3210017853&qwer=59)

Question No. 60

ST AT T AFI &I UF T aq19 & [0 HIST ST g dl w4 A7 Beld, e 4
=
F AT AT 87

BEE

IG\Ip—t 2

c. |5 D. |gaH W FI§ 7l
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When the given figure is folded to form a cube then which face is
opposite to the face with 47

5
2
413
1
6
A 2 B. |6
C. |5 D. |None of these
Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 60) (objection.aspx?qwr=3210017853&qwer=60)
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